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Attempt any Five questrons out of 8 questions.

Each questron carries 15 marks
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1. () Er(plain the concept of rivalry ahd excludahility with an vexamp'le’ in the context of
| pubhc g,oods - |
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(11) Explam the provisioning of publlc goods ina genera] equ111br1um model and show how | ' T’

] . ‘1

. consumers will attain efficient consumptlon'of publlc and private goods. L 6 9
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“Individuals select the local community \jvlho;ser provision of local oubl;ic goods and tax priees
best satisfies their preferences.” Discuss. B o o | 15
A chemical produce_f dumps its toxic waste into a_ river. The waste reduces the popu]a;tion.
of _’ﬁsh'red'ucing profits for the fishermen by Rs. 2,00;,000 per yearr. The. poilluti'on‘cou]d be
reduced by buying the pollution control equipmeﬁt at cost of Rs. 1 ,00,000 per year to ooerate |

and maintain.
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| f)] . that.type of 'exterhality it is ? Give -reason_s.
(i) How does the allocation of property ,rights sovlve the problem 2 Lo

(i) If the. ﬁshermen loss were around Rs. 80 OOO per year instead of Rs 2 OO OOO per year

is the outcome same or dlfferent ?: Explam S 35S
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Explain the income and substitution effects_ of a .unit tax on commodity which is
fully borne by the consumers. Show that the dead weight loss is zero when there is -

no substitution ef’fect.
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In the context of optfmal tax structure, compare progressive and proportional flat rate
income tax schedules which have same effect on utility. Is tax revenue higher with proportional
tax for a given loss of utility ? o B l 75,75
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Imperfect competmon leads to market fallure Explam How can range. ot policies -
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' encourage comp_etition if monopoly is. Pareto‘mefﬁcwnt -and under what cnr_cumstances |t can .
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t beconfrontedandwh) , : ‘ - 5,10
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~Does the luxury tax, say on expenswe cars 1mpose a tax burden on nch consumers

" oron the manufacturers who produce them ? Explam the reason. _ '’
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What are the _fac‘tors tjt_at affect the tax evasion decision ? Explain using simple

" model R T ‘4“.5,10
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7. () Examine the rationale for intergoverﬁtnenf[_al grants under the condition of revenue
sharing,
e weWeE #t uRferfa # sftert weael @ sifew @t sfe
Ff + | |
(i) Inthe context of vertical and horizontél balancc:, examiné the recommendations of 14th
Finance Commission in comparison to the previous commissions. o 7.5,7.5
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8.  Write short notes on the following : A , 1575
(i)  Decentralization Theorem
(i) Rationale behind GST:
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